EARAROBREBRT —5 XN—ZXBISH—F

2021410828 (£) 4@41L1I8H

/R YA

17> 4LESE

‘ (R 65 ‘ (EEE] - |5 () 18000 FHE

[AE%] 17%&:7,600,000  ~ 23&:3,000,000 .~ 37:1,900,000 "  43%&:1,100,000 5 3&:760,000

B RS RS R 1 BF (F8) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
j 5 3 _ f% 3 | BlaEX 1:51.9 5-5-5-5 | 38.4] 95.2 | 1 472 | REESA 8
1 g| 7Y UTTRF 53.0 =) o | ® YrF-L-—yv7
RiZvF—74)L B:YNU3I—IH /=Y ITr—1A
S » s 3 | SH= 1:52.2 8-7-8-7 |38.5| 92.6 | 10 | 480 |m=MmiE (55H)
201]2 [ XY aDRFXF 53.0 a1/2) +14) b
RFVVvH/FEE BiXSYaIvIFEY B S
= it 4 | BREAR 1:52.3 1-1-1-1 [39.1| 92.0 | 14 | 546 |¥R=E— KA
31111 [3¥HFUR 55.0 m +6) L
R:oO07x% B:I7ILINSAY (B) 81— KL—y3avEEI 7
= o % 4 | M. FL—0O 1:52.8 3-3-2-3 [39.6] 88.0 | 7 464 | LRIEZ (5EH)
4|74 FYV/ITURT« 55.0 @1/ +10) s
RibwHFO—)LR B:FrSU—k—T =YV T 7—L
S s3 | AEHEIR 1:53.0 4-3-4-3 [39.7| 86.4 | 6 | 482 |HEEEZ (M)
5|8|15| 7AA¥FTT 53.0 (1172 (7 | AR
RIRwSAYF 8IS LFrOF— w77 —L
SO st 3 | AMEIGth 1:53.1 5-5-5-5 |39.6 | 85.4 | 3 534 | #RE— (GEA)
EHH ZAn =SSRV 2 53.0 o) (+4) bl
R:gd7=x B:NUFVZvyay HBEIT7—LA
© _ st 5 | HLAE 1:53.3 10-9-11-10 | 39.2 | 83.4 | 15 | 540 |f{PIREE EA)
7059 IXVANTa—L4 55.0 (11/4) g |YYTYRIL
R:VvRIVIA B:STI—tAN\—k (B) tBI1-—KL—yavEEI 7
— 35— s3 | RRdE 1:53.4  [13-13-11-11|39.3 | 82.6 | 8 | 486 |FIHHE= (=)
81510 Ir7—Ly—=+ £51.0 (3/4) (1) | EER—
RiW—S—YvF B:IOAYRIANI—LA (B) H&I—RU—y3vEET 7
= _ 4% 3 | ANAE 1:53.6 11-11-8-9 | 39.9 | 81.5 | 5 460 | FHRER (EH)
9 3| ZNWAT A=Y 53.0 a1/4) *2) ) ETh - TU—F—Z 1=
RiF4—=TFAVNT~ B:FRTVYFAUR RFHHBUS
S » 3 | AER 1:53.6 2-2-2-2 | 40.4|81.9 | 4 | 490 |N¥f®w3h =)
10§y 12| 71V IIRI— AR F) L) | EEEa
R:kwI—=F)IYI B:RANARTTT7YU— ESHhIT7—L1A
3 = ft 3 | ATk 1:53.8 8-9-5-7 |40.4| 80.3 | 2 82 | REED (EH)
11713 TRY=J1 %5 53.0 m (+6) TR
RAVIRSAY BUPSAIAURK SN e
= ~ f 3 | BERET 1:53.9 12-12-11-11/ 39.7 | 78.8 | 12 | 476 |EFPiE— =)
12Kl 5| 7=F v~ [B] $51.0 M ) | PE
R:J07% B:ITIPU—IVZR UATT4S5T7—1n
5w N — s 7 | FPER 1:54.3  [14-13-14-14|39.8 | 75.5 | 11 | 474 |&5&E®E (EF)
1308 7 | *F T 1w b—=U7 [B] 55.0 o 16) RUZ LY p N h—AL—3 Y
RiF4—=FITUSYF B:RFTzU—RU— XA FIWT7—L
o ~ 2 s 4 | BIESEA 1:54.6 |15-15-15-15(39.1| 72.0 | 16 | 476 |KEFEL GEH)
14 6 | @FNLOY Y2 5.0 o () | ESEL
RIN=VISA B:IALFIRL—X bk e
= = REEAT : -16-16- BEm— BH
150 4| 2711547 [B] 3 | AEEA 1(.15/42.)7 16-16-16-16| 38.7 | 71.0 | 9 (4:33 ﬁEﬁiﬁ( )
RU—=FHIS50Y B:7A4FIY—UL RIS
=u = s 5 | KEEE 1:55.3 7-7-10-11 | 41.3 | 69.5 | 13 | 490 |EHBREA =)
16/ 8|16 SVYARSIUR [B] A52.0 (31/2) *12) ’J\U.IEEfﬁ
RIYZRI—==25— H:70=H R
[ BN
En'w 51.4-38.7
NOYFA L | 12.2-10.8-11.9-12.9-12.7-12.7-12.7-12.8-13.2
@ 11— —B&IEfI
10—+— (12,%1)14,15(8,11)16(2,13) 9-3-5,10,7-6=4
20—F— (12,+1) (14,15) (8,11)-(2,16) (9,13)-3-5(7,10) =6=4
30—7— (12,%1,14)15(8,11,13) (2,3)16(9,5,10) -7=6-4
43—F— (12,%1) (14,15) (8,11) (2,13)3,9-(5,16,10) -7-6-4
o ILRE
BB 8 2604 JA R 2-8 1,750 % 3E 1-4 2,600 3EE 1-2-8 83,570H
B B 8 160H 1-8 3,930M 5 E 2-8 2,500 3EH 8-2-1 255,770
2 760 1-2 16,5700 =51 8-2 4,740M
1 1,330

ABIC OV TRUTEREERRODDZE. THRIIZEL.



